Math 274 Inverse Laplace Thing Name:
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1. Determine the inverse Laplace transform of the following.
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2. | 2| Last time we noted that since .Z{tf(¢)} = —F’(s) we had f(t) = TZ‘I{F’(S)}. Using this,
determing the inverse Laplace transform of
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3. Applying the Laplace transform to the initial value problem
Yy — 2y + 17y = 17¢*, y(0) =4,5(0) =1
gives the following

[$2Y (s) — ds — 1] — 2[s¥(s) — 4] + 17Y(s) = -S-l-_% (1)

Solve equation (1) above for Y (s) and then determine y(¢) = .2~ }{Y (s)} which is the solution to
the given initial value problem.
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